A$R(ER25FE78)

X5 0445 8
58 (TR0
i B Eh #= (ke) =& (M) FHHE{m(F/ke)
001ESA 10 0 0
51 KBk 10 0 0
004MLE 562 148,986 265
51 KB 34 28,866 849
54F0Fx 1L 528 120,120 228
0072 H 1,062 438,043 412
51K 1,008 418,701 415
62 1E 54 19,342 358
008.5:Y 383 254174 664
24=F 20 18,270 914
26D 69 46,752 678
51 KPR 145 58,269 402
52E[E 149 130,883 878
010lFFESE (KR) 300 64,733 216
025 % 150 22,680 151
51 KR 150 42,053 280
012FEHL 3,559 2,195,855 617
13 R 10 5,775 578
24=F 586 573,048 978
51 KPR 2,355 1,158,780 492
52E[E 608 458,252 754
013ZFDHHL 558 279,027 500
51 KB 96 50,400 525
52E[&E 450 222,075 494
59140 12 6,552 546
014FELVHL 1,280 1,225,027 957
10FE 530 123,270 233
51 KRR 350 448,720 1,282
52E[E 400 653,037 1,633
015h1=£{BELvbL 580 243,600 420
10FE 580 243,600 420
016ILA 82 16,338 199
24=F 7 2,058 294
51 KBk 75 14,280 190
017&I1E 29,608 17,030,221 575
025 & 5,444 2,738,820 503
10F & 652 326,709 501
13HE 320 131,670 411
2152 30 22,680 756
24=F 5,520 3,787,562 686
26X #R 285 206,798 726



51K 14,183 7,629,628 538
525 [E 2,154 1,866,104 866
62 1% 800 193,200 242
66 I 220 127,050 578
018EHB 7,762 7,933,215 1,022
13 ERE 5,312 5,660,490 1,066
24=F 1,902 1,751,505 921
26X AR 288 241,920 840
51 KR 180 170,100 945
52E[E 80 109,200 1,365
019&2L 5,737 3,574,444 623
13 R 1,824 1,082,760 594
24=F 3,745 2,341,366 625
51 KR 48 33,264 693
52E[&E 120 117,054 975
0207K Hhr Ly 296 932,148 3,149
56 518 296 932,148 3,149
0227 Db huly 49,969 28,156,123 563
I B[#::3E] 1,360 1,432,620 1,053
04 = Ik 1,800 1,060,920 589
10F% 400 374,850 937
13ER 3,661 3,187,359 871
24=F 25,106 7,860,468 313
51 KR 15,984 12,521,809 783
52E[&E 1,658 1,718,097 1,036
023FEELN(ER) 230 162,855 708
04 =1, 90 32,655 363
51K 140 130,200 930
027HFET=L 170 166,950 982
13ER 170 166,950 982
028L &KV 228 247,695 1,086
51 KBk 228 247,695 1,086
030F MDftaf=Ly 7,348 9,456,405 1,287
025 % 274 168,817 616
04 = Ik 2,690 3,417,855 1,271
224=F 450 676,725 1,504
51 KRR 3,298 3,902,348 1,183
52E[E 626 1,264,200 2,019
62 % 10 26,460 2,646
0338 1E3 754 675,644 896
52k & 754 675,644 896
034H M58 12,290 9,097,680 740
24=F 1,470 1,085,805 739
26 AR 304 220,248 725
51K 9,515 6,812,774 716
52E[E 1,001 978,853 978



036t 99,898 70,154,259 702
ot1itiEE 11,613 8,126,648 700
04E I 3,331 2,726,294 818
10F % 1,797 1,289,510 718
13 m 22,020 15,717,805 714
224 9,575 5,294,110 553
24=F 18,968 14,014,410 739
26X AR 75 36,751 490
51K 29,464 20,467,567 695
525 & 1,255 1,392,040 1,109
53% 60 47,250 788
54F0Fk 1L 1,740 1,041,874 599
037F%¢ 4,703 3,979,779 846
04 = Ik 320 268,800 840
10F% 513 484,313 944
13ER 150 70,875 473
24=FE 3,670 3,124,291 851
54F0Fx LU 50 31,500 630
0381=5 39,807 55,105,028 1,384
10FE 70 123,375 1,763
138 ER 2,717 3,334,768 1,227
24=F 7,513 10,139,622 1,350
51 KR 29,164 41,147,270 1,411
52EE 343 359,993 1,050
039 X4)LIL—H 2,024 1,605,219 793
24=F 1,110 790,125 712
51 KRR 220 183,750 835
52E[&E 694 631,344 910
041134 (GE) 1,660 1,433,712 864
26 AR 20 38,367 1,918
51K 770 608,055 790
59110 280 235,200 840
607E S 590 552,090 936
0439 1,200 1,282,365 1,069
087k Ik 684 730,275 1,068
51 KRR 222 245910 1,108
59110 294 306,180 1,041
0459 3= 2,486 2,182,239 878
51 KR 2,214 1,881,527 850
52E&&E 200 284,016 1,420
58/5 5 72 16,696 232
048H %= 859 996,531 1,160
51 KRR 859 996,531 1,160
051SAE 14 10,952 782
52k & 14 10,952 782
0521=658 1,302 1,077,217 827




24=F 100 52,500 525
51 KR 1,114 932,821 837
52E[E 88 91,896 1,044
054 V&= 69 84,724 1,228
51 KBk 69 84,724 1,228
055L LV 122 71,841 589
IRE = 110 63,525 578
52E[E 12 8,316 693
056F4h 0 855 1,467,266 1,716
26 &R 855 1,467,266 1,716
057LY 9 4,725 525
62 1% 9 4,725 525
059hh(FFE 10 9,975 998
51 KB 10 9,975 998
0609 Y & 240 183,330 764
o1dti@mE 240 183,330 764
0619 5L \H 13,139 6,211,966 473
025 % 2,610 1,172,535 449
03&F 150 84,000 560
04 = 1k 1,503 658,825 438
10F&E 1,658 859,845 519
13EE 1,638 742,250 453
19811 450 204,750 455
51 KRR 5,130 2,489,761 485
062%°L) Lyhs 225 253,817 1,128
140801 100 5,880 59
51 KR 125 247,937 1,983
063HLA 5L vH 4,281 7,118,495 1,663
138 R 1,192 805,621 676
51 KRR 1,287 2,704,654 2,102
52EE 40 89,250 2,231
60755 100 120,750 1,208
61F /1| 1,662 3,398,220 2,045
065F DL yH 11,162 4,435,841 397
025 % 2,560 658,350 257
03&F 3,230 1,188,760 368
04= b 170 164,850 970
10F% 100 45,150 452
138 90 46,305 515
51 KBk 3,192 1,351,621 423
571U 250 117,075 468
601E S 60 68,775 1,146
61&)Il 1,510 794,955 526
0667= 451 484,747 1,075
13EE 0 0 #DIV/0!



1408 Z ]| 0 0 #DIV/0!
24=F 235 282,454 1,202
51K 208 181,818 874
601ES 8 20,475 2,559
070L\E R T 20 69,300 3,465
51 KR 20 69,300 3,465
0721 =A T 8,001 10,591,355 1,324
04E I 240 582,343 2,426
2240 4,289 4,935,946 1,151
23R B 1,066 1,231,356 1,155
24=F 370 418,164 1,130
51 KB 1,671 2,955,267 1,769
525 [E 365 468,279 1,283
073H M AV 3,200 3,451,811 1,079
04'= 3 340 291,731 858
51K 1,690 1,551,942 918
52EE 1,080 1,513,638 1,402
555 HY 90 94,500 1,050
074FDZ Y 65,930 79,473,561 1,205
13ER 11,521 16,277,037 1,413
22450 279 444,360 1,593
23 & 481 1,221,276 2,539
24=F 14,402 19,007,631 1,320
26 X &R 144 146,160 1,015
51 KR 33,534 33,481,504 998
52E[&E 5,569 8,895,593 1,597
075 H LAY 267 518,837 1,943
ot1dtiEE 10 14,207 1,421
24=F 25 39,375 1,575
51K 202 426,405 2,111
52EE 20 17,850 893
644a if] 10 21,000 2,100
0760 & 10 7,875 788
51 KRR 10 7,875 788
081F D ft £ BB 216 113,400 525
51 KR 216 113,400 525
085F D th 27,055 36,122,311 1,335
o1dtiEE 10,077 719,619 71
04 = Ik 3 2,993 998
08Tk Ik 1,994 6,765,465 3,393
13FRE 3,430 1,982,221 578
2048 F 1,402 4,190,463 2,989
22450 512 934,290 1,825
23 B 165 185,304 1,123
24=F 2,038 2,251,326 1,105
51K 5,982 17,053,680 2,851
52E[E 822 802,570 976
54F03x14 160 1,058,400 6,615



5910 470 175,980 374

411,983 370,801,641 900




